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QUESTION 1

A customer is interested in implementing two DL4000 systems. One system is located at a central site. The second is at
a remote site as a target for Remote Copy operations. Policies will be configured to replicate certain tapes to the target. 

Which process is necessary to make the virtual tapes available on the target? 

A. Promote the replica resources to virtual tapes and move them into a VTL 

B. Move the replicated virtual tapes from the virtual vault to a VTL 

C. Remove the replication setting on the target virtual tapes to make them write enabled 

D. Import the replicated virtual tapes on the target 

Correct Answer: A 

 

QUESTION 2

An EMC NetWorker customer has been using an EMC Disk Library (EDL) for over 4 years. The EDL has reached its
capacity limits. The customer is in the process of virtualizing as many physical servers as possible to reclaim data
center floor space. They are backing up numerous 8 TB databases. 

The customer is interested in replacing the EDL. The replacement must maintain a single point of backup administration
and reduce backup times for their growing virtualized environment. 

What is the recommended solution? 

A. Add a deduplication Storage Node to NetWorker for VMware backups and replace the EDL with Data Domain for
large databases 

B. Add an Avamar Data Store for VMware backups with Data Domain under NetWorker for physical servers and large
databases 

C. Add Data Domain for deduplication under NetWorker to replace the EDL for VMware and Avamar for database
backups 

D. Add Data Domain under NetWorker to replace the EDL for VMware and a deduplication Storage Node for database
backups 

Correct Answer: A 

 

QUESTION 3

An EMC NetWorker customer has recently added an Avamar system for file system backups. They want to move all
backups to the Avamar system to take advantage of deduplication. They are currently backing up Sybase and SAP with
NetWorker. 

Which recommendation will meet these requirements? 

A. Configure Avamar as a deduplication storage node in NetWorker and use deduplication for all backups 
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B. Use native database tools to back up to flat files, and then use Avamar to back up the resulting files 

C. Use pre- and post-processing scripts to shut down the databases and perform a cold backup with Avamar 

D. Use Avamar instead of NetWorker for all backups 

Correct Answer: A 

 

QUESTION 4

You have been asked to redesign an EMC NetWorker environment using Data Domain with DD Boost. 

When considering the memory requirements for the Data Domain devices, the DD Boost client has 4 GB of 

RAM using one stream. 

What is the minimum memory requirement for each single stream? 

A. 6 MB 

B. 12 MB 

C. 18 MB 

D. 24 MB 

Correct Answer: D 

 

QUESTION 5

You are designing a backup solution for an EMC NetWorker customer. Given a conservative estimate, how many CPU
cycles are needed by the storage node when backing up clients over the network to local tape drives at a rate of 100
MB/s? 

A. 0.2 GHz 

B. 0.5 GHz 

C. 1 GHz 

D. 2 GHz 

Correct Answer: C 
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